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1. Name 3 instruments we use to measure distance of length.

____________		_____________		_____________ 

2. Estimate:
2.1 The height of a mug   	
2.2. The width of a room   	
2.3. The length of a soccer field   	
2.4. The height of a cat   	
2.5. The length of a bed   	
2.6. The distance between Johannesburg and Cape Town ________________
2.7. The distance between Pretoria (Tswane) and Bloemfontein (Mangaung)
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3. Convert the following measurements
3.1. 2 metres = 	millimetres
3.2. 1 metre = 	centimetres
3.3. 3 kilometres = 	centimetres
3.4. 2 centimetres = 	millimetres
3.5. 10 hectometres = 	metres
3.6. 30 decimetres = 	decametres



Tuesday – Memo
1. Name 3 instruments we use to measure distance of length.
       Ruler, tape measure, meter ruler
2. Estimate:
2.1 The height of a mug 10cm
2.2. The width of a room 4m
2.3. The length of a soccer field 100 meters
2.4. The height of a cat 25cm
2.5. The length of a bed 2m
2.6. The distance between Johannesburg and Cape Town 1 500km
2.7. The distance between Pretoria (Tswane) and Bloemfontein (Mangaung) 500km

3. Convert the following measurements
3.1. 2 metres = 2 000 millimetres
3.2. 1 metre = 100 centimetres
3.3. 3 kilometres = 300 000 centimetres
3.4. 2 centimetres = 20 millimetres
3.5. 10 hectometres = 1 000 metres
3.6. 30 decimetres = 0,3 decametres
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Wednesday – Memo

























Thursday

1. If a piece of wire 8,192m in length is divided into 8 equal parts, how long will each piece  be?   	
2. The school pole-vault record is 2,15m. Lindi reached a height of 2,09m. How much lower is this than the school record?



3. My brother’s stride is 811mm long. He takes 9 strides from the front gate to the veranda. What is the distance from the front gate to the veranda?  
 	
4. John has five pieces of rope, respectively 2,043m; 1,242m; 2,623m; 0,765m and 1,431m in length. What is the total length of the five pieces?
   	
5. Jessica’s house is situated 656m from the school. What distance does she walk to school and back in one school week (Monday to Friday)? (Answer in km)







6. At an athletics meeting, Thandi jumped 4,672m, but Tom beat her by 0,349m. What was the length of Tom’s jump?  ____________________
7. How many blocks, each 99mm long, can be cut from a beam 6,930m in length?



8. The school flagstaff is 7,870m long. 2,025m is painted white, 3,150m is painted blue and the remainder is painted red.  What length of this pole is red?   	
9. At the start of a journey, the reading on the odometer of a motor car was
5 768km. At the end of the journey, the reading on the odometer was 9 243km. What was the total distance travelled?   	
10. The height of a storeroom from floor to ceiling is 3,406m. Four boxes stacked one on top of the other, just fit into the room. Three of these boxes are 807mm, 950mm and 1,129m high.  What is the height of the fourth box?   __________________
Thursday – Memo
1. If a piece of wire 8,192m in length is divided into 8 equal parts, how long will each piece be? 8,192m ÷ 8 = 1,042m
2. The school pole-vault record is 2,15m. Lindi reached a height of 2,09m. How much lower is this than the school record? 2,15m - 2,09m = 0,06m
3. My brother’s stride is 811mm long. He takes 9 strides from the front gate to the veranda. What is the distance from the front gate to the veranda?
811mm x 9 = 7 299mm or 7,299 m
4. John has five pieces of rope, respectively 2,043m; 1,242m; 2,623m; 0,765m and 1,431m in length. What is the total length of the five pieces? 2,043m + 1,242m + 0,765m + 2,623m + 1, 431m = 8, 104m
5. Jessica’s house is situated 656m from the school. What distance does she walk to school and back in one school week (Monday to Friday)? (Answer in km)
656m x 2 = 1 312m (she walks in one day)
A school week is 5 days so we multiply by 5. 
1 312m x 5 = 6 560m = 6,56km
6. At an athletics meeting, Thandi jumped 4,672m, but Tom beat her by 0,349m. What was the length of Tom’s jump? 4,672m + 0,349m = 5,021m
7. How many blocks, each 99mm long, can be cut from a beam 6,930m in length? 6,930m + 99 = 70
8. The school flagstaff is 7,870m long. 2,025m is painted white, 3,150m is painted blue and the remainder is painted red. What length of this pole is red?
2,025m + 3,150m = 5,175m (painted white and blue) 
7,870m - 5,175m = 2,695m
9. At the start of a journey, the reading on the odometer of a motor car was
5 768km. At the end of the journey, the reading on the odometer was 9 243km. What was the total distance travelled? 9 243 - 5 768 = 3 475 km
10. The height of a storeroom from floor to ceiling is 3,406m. Four boxes stacked one on top of the other, just fit into the room. Three of these boxes are 807mm, 950mm and 1,129m high. What is the height of the fourth box?
0,807 + 0,950 + 1,129 = 2,886m (height of 3 boxes)
3,406m - 2,886m = 0,52mm

Friday
Measurement Questions











1. About how long is the pencil?	 	


2. About how long is the paperclip?	 	


3. About how long is the nail?	 	


4. How much longer is the nail than the paperclip?    	

What math fact did you use to figure this out? 	______________________


5. How much longer is the pencil than the nail? 	____________________

What math fact did you use to figure this out? 	____________________



Friday – Memo
Measurement Questions
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1. About how long is the pencil?	15 cm

2. About how long is the paperclip?	4 cm

3. About how long is the nail?	9 cm

4. How much longer is the nail than the paperclip? 5 cm longer

What math fact did you use to figure this out?	9 - 4 = 5

5. How much longer is the pencil than the nail?	6 cm longer

What math fact did you use to figure this out?	15 - 9 = 6
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Revise what you learnedin Grade 4 by
completingthefollowingconversions.

Remember ...

1. Complete the followingin mm.
a) 4m362mm = mm

3. Converttometres and millimetres.

a) 7592mm=__m__mm
b) 1069mm=__m__mm
¢ 1231lmm=__ m__mm
d) 500Imm=__m__mm
) 18200mm=__ m__mm

f) 6376mm=
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2. Convert tometres.

a)
b)
L)
d)
e)
f)
8)
h)

lkm=__ m
Lo
Jm=__m
_km=750m
10km735m=__ m
i -

10 m=—m
___km=250m
Skmgsm=__ m
3km8m=__ m

g) 6623mm=___m___mm
h) 7002mm=__ m___mm
i) 1060mm=__ m__mm
j) 5400mm=__m___mm

4. Convert tokilometres and metres.

a) 452lm=___km__m
b) 13456m=__ km___|
c) 12080m=___km___
d) 13200m=__ km___
e) 2003m=__km__m

f) 350m=__km__m
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1.Completethefollowinginmm.

a)4m 362mm =4 362mm
b) 1m 206mm = 1206mm
) 5m 200mm =5 200mm
d)Zm 63mm =7 063mm_

€) 12m smm =12 005mm
f) 2m=2000mm

€) 3m 207mm = 3 207mm
h) 15m 18mm=15018mm
i) 10m10mm=10010mm
) Om26mm=26mm

k) 7m5mm=7005mm

1) 9m99mm =9 099mm

3.Converttometresand

a) 7 592mm =7m 592mm
b) 1069mm = Im 69mm
€)12311mm=12m 311mm
d)5001mm = 5m Imm

) 18 200mm = 18m 200mm
f) 6376mm =6m 376mm
8) 6623mm =6mé23mm
h) 7 002mm = 7m 2mm

) 1060mm=1mé0mm

j) 5400mm =5m400mm

4. Convert tokilometres and metres.
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2. Convert to metres.
a) 1km =1 000m

b) 1km:m
c) m = 750m

d) 10km 10km 735m = 10735m

e) 4 m=100m
1) 4 =250m
g) 5km 65m = 5 065m

h) 3km 8m = 3 008m

a)4521m =4km 521m.
b) 13 456m = 13km 456m
©) 12 080m = 12km 80m

d) 13 200m = 13km 200m
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Length: This determines how long an object is or how far two
distances apart from each other.

NAME ABBREVIATION MEASURING
‘millimetre mm To measure very short ifems
centimetres cm To measure short objects
mefer m To measure shorter ifems
kilometre km To measure long distances
I'em =10 mm

10 cm = 100 mm
1'm =100 cm = 000 mm

I'm =1000 mm

1km =1000 m

Fraction units:

1=500 2km=500m

1=250 1km=250m

i E

;—750 ;km—7$0m
125 Zkm=125m
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Study the above map and complete the following.

1

2

The distance between Durban and Pietermaritzburg km.
The distance between Pietermaritzburg and Greytown is km.
i598km from Pietermaritzburg,

The distance from Durban to Escourt by road is. km.

Pietermaritzburgis almost midway between and

1f 3 cyclist travels at an average speed of 20km/h, how long will he take to travel
from Pietermaritzburg to Ixopo?
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Study the above map and complete the following.

1
2
3

[rhe distance between Durban and Pietermaritzburg 82km.

The distance between Pietermaritzburg and Greytown is Z8km.
Escourt is 98km from Pietermaritzburg.

The distance from Durban to Escourt by road is 180 km. (82 + 64 +34)km.

Pietermaritzburg is almost midway between Greytown and lxopo.

Ifa cyclisttravels at an average speed of 20km/h, how long will he take totravel from
Pietermaritzburg to lxopo? 80km (39 + 41) + 20km/h =4. He will travel 4 hours.
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